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	The shell of some buoys is made of a sheet of iron.   
	

	
	
	What’s about the volume of a second buoy that consists of two equal cones and a total height of 1,2 m?

	Is it possible to carry a buoy (same measure) that is made of cork?
	Calculate the weight of a Sphere of Styrofoam which has the same radius as the Buoy. Compare the weights! 
	


Calculate the shell of a buoy that is covered with a sheet of iron. 





� HYPERLINK "http://images.google.com/imgres?imgurl=https://www.moritzversand.de/shop/bilder/styroporkugel.jpg&imgrefurl=https://www.moritzversand.de/shop/styroporformen.php&h=180&w=171&sz=4&hl=de&start=1&tbnid=27935D-EO_urJM:&tbnh=101&tbnw=96&prev=/images% �� INCLUDEPICTURE "http://images.google.com/images?q=tbn:27935D-EO_urJM:https://www.moritzversand.de/shop/bilder/styroporkugel.jpg" \* MERGEFORMATINET ����� EMBED Equation.3  ���














The diameter of all mentionned boys is 1 dm. 




















WANTED:





Volume and Weight of both buoys





� INCLUDEPICTURE "http://www.f1online.de/premid//56877pm.jpg" \* MERGEFORMATINET ���





There is a ratio of 1: 5 for the two heigths of the two cones of the buoy.





The total height of the buoy is 1,20 m.





specific gravity of cork: 


 0,2 g /cm³





specific gravity of iron: 


7,86g/cm³





specific gravity of styrofoam:�0,05 g/cm³
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